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ΑΓΓΛΙΚΑ    -     KEY 
 

PART  III:  READING  SKILLS    (40  MARKS) 
 
A.  Choose  the  best  answer  a,  b,  c  or  d  in  each  case  according  to  the  text: 
           (5  X  2  =  10 marks) 
 
1.  c  2.  a  3.  d  4.  a  5.  b 
 
B.   Answer the following questions on the passage             (3  x  3  =  9  marks) 
 
1.    a.   It  enriches  their  knowledge. 
       b.  It  contributes  to  their  ease  and  well  being. 
       c.  It  stimulates  their interest  and  initiative. 
2.  To  put into  practice  the  knowledge  and  skills  they  have  gained  from  the   
     academic  curriculum. 
3.  By  facilitating  their  work,  coordinating  their  projects  and  giving  assistance  to   
     them. 
 
 
C.  Extended writing –  (suggested answer)    (15 marks) 
(According  to  the  text) 
In  the  integrated  work  project  approach  the  students  choose  four  subjects  from  
two  or  more  areas  of  study.  This  is  based  on  their  preferences  and  talent.  The  
right  of  choice  is  very  important  because  they  learn  to  be  responsible  and  are  
motivated  through  this  novel  approach.  The  project  can be  the product  of  their  
own  work  or  work  with others. Assessment takes place during the activity.  
(Students’  views) 

• promotes  autonomy  in  learning 
• use  of  resources apart  from  their  textbook 
• encourages  students’  and  teacher  /  students’  collaboration  and  relationships 
• widens  students’  horizons 
• improves  learning  skills 
• promotes  lifelong  learning. 

 
 
 
 
 



D.  Match  the  words  in  Column  A (in  bold  in  the  text) with  the  words /   
      phrases  in  Column  B (more  words / phrases  than  needed  are given). 
       (6 x 1 = 6 marks) 
 
1.  c  2.  g  3.  b  4.  a  5.  h  6.  f 
 
 
 
PART  III:  LANGUAGE  USAGE    (15  MARKS) 
 
A.  Complete  the  second  sentence  so  that  it  has  a  similar  meaning  to  the  first   
      Sentence.  Use  the  word  in bold  and  other  words  to  complete  each  sentence.   
      Do  not  change  the  words  given.   (5  x  1  =  5  marks) 
 
1.  ….  would  rather  have  … 
2.  ….  is  capable  of  succeeding  … 
3.  ….  not  being  able  to  … / … being unable to … 
4.  ….  manage  to  catch  /  get / take 
5.  ….  have  been  reminded  …  
 
B.  Fill  in  the  gaps  in  the  following  passage  with  only  ONE  word     
        (10  x  0,5  =  5  marks) 
 
1.  to  2.  of  3.  able  /  ready  /  willing 4.  learning  5.  is 
 
6.  to  7.  also  8.  have 9.  for  10.  according / related 
 
 
C.  Fill  in  the  gaps  in the  following  text  with  the correct  form  of  the  words   
      given  in  brackets.     (10  x  0,5  =  5  marks) 
 
1.  radically 2.  educational  3.  maturity  4.  collective  
  
5.  associations 6.  cultural 7.  responsibility 8.  authorization 
 
9. widely  10.  attendance 
   
 
 
 

 
 


